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Het	verband	tussen	het	getal	π  en	het	vallen	van	een	stokje	op	een	
parketvloer		

	
Laat	op	een	parketvloer	bestaande	uit	
evenwijdige	planken	met	constante	breedte	
b	een	aantal	keer	een	stokje	vallen	met	lengte	
l	met	l	=	b/2.	Hoe	groot	is	de	kans	dat	het	
stokje		de	naad	tussen	twee	planken	kruist	
en	dus	op	twee	planken	valt?	
Antwoord	:	!

!
≈ 0,318…	

	
Ik	heb	10	stokjes	laten	vallen	zoals	op	de	
afbeelding.	Drie	stokjes	kruisen	de	naad	
tussen	2	planken.	Ik	heb	dit	nog	eens	
viermaal	herhaald	en	in	drie	gevallen	kruisen	
nu	ook	drie	stokjes	de	naad	en	in	één	geval	
zijn	het	er	vier.	Dus	van	de	50	stokjes	zijn	er	
16	die	een	naad	kruisen,	dus	16	op	50.		

!"
!" 
= 0,32 en	dit	benadert	inderdaad	de	theoretische	kans		!

!
 .	

	
	

	Op	nevenstaande	afbeelding	is	α	de	hoek	die	het	
stokje	maakt	met	de	loodlijn	op	een	naad	met	
0 <  𝛼 <  !

!
 	(de	hoek		!

!
 in	radialen	komt	overeen	met	

90	°)	en	y	is	de	afstand	tussen	het	midden	van	het	
stokje	en	een	naad	met	0 < 𝑦 <  !

!
.	

	
Het	stokje	zal	een	naad	kruisen	als	𝑦 <  !

!
. cos𝛼		Zie	figuur.			

We	maken	de	grafiek	van	de	functie		𝑦 =  !
!
. cos𝛼	in	het	interval	𝛼 ∈ 0 , !

!
 	en		𝑦 ∈ 0 , !

!
	

	
In	de	linkse	afbeelding	nemen	we	b	=	10	en	l	=	5.		
	
Vermits	voor		0 <  𝛼 <  !

!
		geldt	dat	0 < 𝑦 <  !

!
	.	Het	aantal	“mogelijke”	situaties	van	het	

stokje	komt	dan	overeen	met	de	oppervlakte	van	de	rechthoek	ABCD.		
Het	aantal	“gunstige”	situaties	(het	stokje	kruist	een	naad)	waarbij	𝑦 <  !

!
. cos𝛼,	komt	

overeen	met	de	oppervlakte		onder	de	grafiek	van	𝑦 =  !
!
. cos𝛼  met		0 <  𝛼 <  !

!
	,	dit	is	de	

oppervlakte	van	de	figuur	ABE.	
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𝑦 =  

5
2 . cos𝛼	

	 𝑦 =  
7,85
2 . cos𝛼	

	
Deze	berekenen	we	met	de	bepaalde	integraal			

  !
!

!
!
! . cos𝛼 .𝑑𝛼 =  !

!
. sin𝛼 !

!
! =  !

!
. 1 − 0 =  !

!
		

	
De	oppervlakte	van	de	rechthoek	ABCD	is	gelijk	aan	!

!
. !
!
	

	
De	kans	P	dat	het	stokje	een	naad	kruist	is	dus	volgens	de	regel	van	Pascal	uit	de	

kansrekening	gelijk	aan	𝑃 =  
!
!

!"
!
=  ! !

! !
	

Voor	l	=	b/2	krijgen	we	𝑷 =  𝟏
𝝅

 ≈ 𝟎,𝟑𝟏𝟖	
	
Het	is	duidelijk	dat	hoe	langer	het	stokje	is,	hoe	groter	de	kans	wordt	dat	een	naad	wordt	
gekruist.	Hoe	lang	moet	het	stokje	zijn	opdat	de	kans	gelijk	is	aan	½?	

We	lossen	de	vergelijking					
 𝑙 2

𝜋
2
0 .cos𝛼.𝑑𝛼

𝜋𝑏
4

=  !
!
		op	naar	de	onbekende	l	.	

!
 !

!
!
! . cos𝛼 .𝑑𝛼 =  !

!
=  ! !

!
			of					𝑙 =  ! !

!
≈ 0,785 𝑏		

	
Voor	b	=	10	is	l	=	7,85		(zie	afbeelding	2)	
	


